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amber whose fifth part increased by 5 is
al to its fourth part diminished by 5, is

| 200 (B) 220
) 160 (D) 180

ie annual net primary productivity of the
hole biosphere is

A} 170 million tons

{B) 115 billion tons
C) 180 billion tons
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Malignant malaria 1$ caused by A
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(D) Shiegellatyphi
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hich Indian district hosts India’s highest | ;a/ v B & v F wam i ede ik y
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Norld Press Freedom day is celcbrated 247 faw Yy Tm e 7w #3 s
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A} 4 Marc :
:{-‘1) 3% May (D) None of the above {Cy 3 w§ (D) T & A w4
Find the missing letters in the sequence. 28] A fjgen g "‘;‘ﬁ Ay
of fofpefe gy e ; el2xfe_fupfl etpg e
(A) pefefe (B) geeelt (A) gefele o et
C) gffeg - (D) geeclg (C) geficg (D) ggeelg
. 1n2021 Asian Table Tennis Championships | 6. 2021 & uftrard Taw 2w S A gd)
was held at (A) wfifsm
&5 |A) Beijing FIINTg
(C} Doha (C) A\
{D) Abudhabi w
177. Let PQ be 32 km, A man starts from P and ‘}’{ PQT-I'H'I 32%3!%@?%3@4“&@
walks 16 km on first day. On the second day 3 16 fasht werm ¥ 1 g8t 29 8 Pl wem @ 1A
he walks 8 km on the third day, he wnlksl frafeissmiai@Hamfisaa 1:|mQ
4 km and so on. When will he reach Q ? mmqg%m?
&) In 16 days  (B) In 32 days (A) 16 i i B) 32 =i H
iC) In 8 days (D) None of these {591/3 fat (D) ¥ 4 Fré 3
28. Find the missing term in the senes. /I( Fafafaa ’11!‘6!1 b e g F FJE w6 )
A B JO; A E, J, O, _ -
W T (B) V & . ST ®) Vv
) s (D) None of these ©) s

(D) W& J B Tt
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eproduction l{g’] EP:Etli‘;:ctiun e D] IWRER
0 121447 | 307 12:144:: 7
) 15: 135 (B) 10 : 140 = (A) 15; 135 {B) 10: 140
€] 22 : 464 (D) 20:400 €) 22: 464 _ADY720 : 400
. PAME-Il scheme is related to _ar] A g At |
A} Agricultural sector (A) T8 &
(B) IT sector (B) .. &
(€) Automobile sector Ay st &
(D) None of the above (D) I & & i i
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ae Trustceship Council of UNO was
uspended on 1" November 1994 with
ndependence of its last trust territory.

A} East Timor (B) Thailand
|C) Palau (D) Nigeria

|

Which letter would complete the puzzle ?

e |
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The UN charter consisted of 347 e U W e &

{4 111 Articles (B} 125 Articles (A) 111 ST=07 (B) 125 sF=R

{C) 390 Articles (D) 110 Articles

(C) 390 W=z _ABY" 110 7=z

5. Find out the n™ term of 3,9,27,81.... /8( 3/9,27,81,.. Fnal wyEA= |
(A) 3 (B) 3~a. A) 3= (B) 3~2
(C) 3 ) 3= (C) 3= ,,(-B'r’ 3t
A6 __ s anauto-identification ,36"' ___URER-TEAE THAT 8, 9 O T6] % @9
technology, which ia used to capture - [ Forao Jam &) ol siam F e s i @ |
transmit identification details of an
wirclessly, (A) Fawm
B i o o 3 e
! pulcr Interface (BCY)
4-«’.1 Radio Frequency ldentification [RFID)y—" Wt S
(D} Internet Protocol Television PTV) % (D) 522 Wiewte 2fafeas= (amd 6 A .&.)
37. The anionic sites occupied b i % UIpER (|
: st pied by unpaired | 377 agﬁu T T U T imi
(A] G-centres (B) P-centres A) G-Fx% _By-F-
(C) C-centres (D) B-cemtres (C) c¥x D) E¥x
)&,/_ - is an unsubte play of words on | 387 Tl % W @ W @A, v ¥g Dum
Microsoft’s Back Office suite of programs for Wit e R W agea g |
N NT server. AAM!-!’-‘-*-
wom) (A] WANK
Y& (B) Back Orifice (B) &% E T
(C) SPAM (C) YRR,
{D} None of these D) T & =i
39, The tota) number of time zones in the world Mﬁlﬂwmﬁﬁm
A} 7 (B) 2 (A) 7 '
IC) 24 (D) 11 () 24 ARl
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3. Thegreatest number, which when subtracted

5834, gives a number exactly divisible

from

by each of 20, 28, 32 and 35, is
(A) 1120 (B) 5600
iC) 5200 (D) 4714

In PowerPoint 2003 to change the
background of the presentation, you need
to select background from the .

menu.
(A)] Format (B) Edit
[C) View (D) File

). With respect to armed police, the head of a
battalion is callcd the
(A) Commander in Chief
(B) Deputy Commander
(C) Commando
(D) Commanding Officer

l. Which is the first Paleolithic site found in
India ?
(A) Tiruanalveli in Tamil Nadu
(B} Kathewar in Gujarat

{C) Sohan river basin
(D) Ajmer in Rajasthan

—
-

L In Excel, the option prescnt in tab
allow you to lock the selected cell.

(A) Protection (B) Format
(C} Font (D) Patterns

. Eight college students A, B, C, D, E,
and H are sitting around a circular  sle
playing a game. Four of them A, B, Eand ¥
are not facing the centre, D is third to the
left of H, who is fourth to the right of E. A
8 third to the right of B, who is third to the
leflof D. F is second to the left of C.

I_!‘-"'W many people sit between G and B ?
il the counting starts from B in clockwisc

A

> iy
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~ vt 3 S 7 Ve TR T FH-a g
(A) farereraeh, afiemrg
(B) FIAM, TITA
(C), e w4t afe
wad e il fawey anvs wufw d@ R
e @ 1 srgefa 2 R |
(B) ®itdz

(C) F= (D) ¥

45, fl mefaurem % 8 faandiA, B, C, D, E, F, G

Td H UF AR I F RT3 daa i @
Guw |3l A A, B, E 3 F ®1 9@ Fx A 3N
721D, H& e A FR AR
EFTadmmmdia sHgdadwor
WAfE DHEadAdwd (F, cEadRIEOR
Qs pEda i amad § ? (smed A R
i 3 & e & 4 s

direction)
(A) Three (B) Four AR (B WX
(€} One (D) Two (€) & (D) @
© The term refers to the person | A6 wa 3w i @ wafl @ 9 sfiga afa
::2 the intention of finding ;omc wca: i e ¥ Awemde she oy sz sonferdt ) g
fRih de mey { Dive g TS
l:;::hc:;ucd access. —— (A) T8 S
a ( ac IR
(€) Cracker (D} Theft Ll =
. M15
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According to this Article of Indian

hT.
Constitution a money bill shall not be
introduced in the Council of States.
(A) Article 102
(B) Article 109
{C) Article 110
(™ Article 105
48. lets you perform fancy cffects on
_, upside down grril.ing. words

words/letlers =
n angle or & cury
(8)

A

il
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et T o Fw wiged  srgEm o

ﬂﬁ“ﬁmﬁmﬂﬁnmmm?
(A) FFeE 102
(B) >iF=E 109
/1.61/313’53" 110
(D) wIed 105
__amaﬁmﬂ}:smﬂmaﬁrgaﬂ
;ﬂiﬁ_ﬁwﬁam. Ao v @ T
g o1 A fagam
(A) frer T (B)
/k:]/aiani (D) A At
amemt?




tands for
>ommon Line Interface

common Line Interaction
Command Line Interface
Command Line Interaction

2

¥

al Pratap is on the 13" position from
ting and on the 17* position from the
of his class. He is on 8* position from
starung and on 13" position from the
| among the students who passed, How
ny students failed ?
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_5%7 Hua, o, % waem @

FIFA TR O
(B) i ¥R e
(C) %WTE WA eTHa
(D) FATE A A

. WO S A TR AR Y 139 wWE woag s g
17 3 TR o R | 50t v g0 & vei 3 & vwm m
8 a1 & wuls o7 @ 13 71 @t § frad R} sms
w7

Ay 7
| 7
| Cannot be determined (8) fRwife 7¢t it s s
|1 8 {C) 8
) Nonc of the above STitad & A F1¢ T
hich of the following is the rupee T fofafaa # @ ¥R-w wr@ ¥ e g gensit
snominated bonds issued outside India w ‘
idian entities ? . mmmmm mmt?.
A) Bharath Bonds  (B) Masala Bonds AAY TR W (B) waren ams
C) Sugar Bonds (D) Nonec of the above () <t =iz (D) Iitaw & A = 7
(2.3)' -0.027 ] ~42.3)" -0.027 |
Mhe value of i R N .
(2.3) +0.694+0.09 ] = C#/ hﬁ.:!)i +0.69 + 0.09} .
(&) 2.33 B) 2.27 (A) 2.33 (B) 2.27
c) 26 D) 2 € 2.6 (D) 2
When barrier bars and spits form at a mouth'of O AU % gerd e an ofn e v § sin
a bay and block it, results in the formation of /53/ T8 &2 30 § A 3w o e @
(A) Estuary (B] Beach (A) TEM a2
(€} Lagoons (D} Barrier reefs (C) AR (D) & <A
Th. , "
¢ ecch;s::{tlcwn of Cockroach is ‘,59’/ wiF & aft s o g @
(A) Collagen  [B) Chitin (A) PR @ KE gt
(C) Chondratin (D) Chondratin sulphale IC) FgifA —B) Wz
Which Section of IT Act deals with Hacking | 607 3md.&, sftfian ) w - v s fowen A
of computer systems and its penaltics ? M ot wF az @ afa @ 7
IA) Section 62 (B} Section 67 |A) HTI 62 __|By-um 67
(€} Section 65 (D) Section 66 (C) U 65 (D] 4 66

She goes 10 the movies only on Thursday.
What day of the week is today ?

A) Sunday (B) Tuesday
(C} Thursday (D) Saturday

fiew e wrft R ) o e M RA-W AR 7

M

(C) R

(B) Wmean
oy T
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F- c’ﬂt F gho i catel {CI 'B m a-,t =
e dot Optlﬂn pﬂln ‘3 I'ﬂ"ﬂm Al g @
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pain®® 799 st " qaiblC sad fag ™
cut ,‘ntﬂ ‘nm'm'll-‘m ¥ (8l A / Wﬂw ﬂ;‘ \
™ (o) ts | AR
A) 6 I'.Cmcn ﬁﬂf "-‘.I‘II
ltca 8 estion %0 Choose e w40
< 1 6 nc‘luﬁl“nd:m ont A ,xg'(g |
o4 10 {iowed BY 0, e volidlY g
condue ctpve totem<? 9. @ T
pasis ers ﬁﬁ& . g1
tementEL arc dust B ke AS LY —
1 il the dusters & 4 . f:ﬂ AR NI
. ns 3 ’
B:M;:::chalk are boar A8 L‘;??ﬂtuﬂﬂﬁgm“ﬂ
i isa follo¥ ( i1
{1 No d:::ﬂ ualo :f:fo:ow /Lﬁ?l’éa P 2T e 8
ta;l} !:s:‘:h Conclus - (5) W gfa LU
: : : it
@ only t;;:z:‘::an {1 follows )E/ vty wrd 91 ;ﬁmf;ﬁ:
{nl Only thnt 22
= W _,_,_--"'-'-_---
Ja— .of :ﬁ;o:: P ) mmﬁqi‘-ﬂ'&
685, The  ght or anticipatets ' s ()
are soush funclions = 1o w1 *F
Social o
B Both (D) and A e wd B2
-t [uncﬁoﬂ‘ Tﬁ:il
‘rgl l;:::[cst functions " v T & &5 A
: resent Governer R A) dmaﬂ o
66. who '5[ ::'c.. i 1 E403]
"y Dr. Raghuron O Rafe? ~ (o) . 3k s, @
hakukants Das :
[g ?)r Uriit R. Patel (D) drwa d awd T
(D) None of the sbvE o ot gt T B B, W it
67. If sucoession OCCUTS on bare rock, it is ’ﬁ/ (A) smafire FATEdA
Ti“ ey succession m
(8] Physical succession _ACT O I
{C) Negative succession (D) Wit & wrd Tt
D) None af these
M15 s
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A udmxmﬁ‘iﬁmﬁmhg papers * g T 150 3 % 6 ¥ad # 649 3 5T
of 150 mark _ﬂﬂh. ach. 3! s 25% of his . 3 o vy = m
total +rained marks fn Hind: snd Koghsh fary Iq?m‘l 25% 641 3tk : ﬁiE;“:l
oprther. ﬂmmu&:htﬂs total score for Wm?lﬂﬁmmmﬁﬁ .
both these papers 2. (A) 120 (B) 144
A} 120 P ad
[C1 o140

b (D) 124 /LET"'M(} _ (D) 124

Four di‘.‘l‘t'Ivl\("‘ 6 . @ﬁ Wﬂ’ﬁ LS waﬁﬂit lhwq
4 iz &, 7o fafra e W gl ) ven fiw |

shown. Sclect
be on the face d

& »9 b

Ina presentation you can include information Zd/l{ﬂ? wregfil 3 e w3 ) A e R
=

such as the company name or the name of am . dmiaaw mtl
your department in the A

(A) Title (B) Footer box ol 8) ?'t Xrea
(C) Header box (D) Status (C) et at=y (D) R\

L. Which of the following State Governmenls /1‘[f Prferfiaa 8 @ -t s mimﬁi
recently has launched COVID-19 affected Fifdz-19 warfya iy wmm B Ay
Livelihood Support Scheme ? 19 : : mﬂ% L

(A) Manipur (B} Nagaland (A) BT (B) TS
(C) Mizoram (D) None of the above _teT B (D) Fwire A R T
&3

R The printed price of a book is Rs. 31 . | L% U TET W A T 5, 320 3 | v e Fa
A retailer pays Rs. 244.80 for it. He gets

. vE T %, 244,80 T AR w1 | MWW
Eumséwc discounts of 10% and an another 10% 3R w71 U ) sk e fedi @ SR el
rate. His second ratc is WY

(A} 149 (B) 16% %‘% _(A)FT4% B) 16%
IC) 15% (D) 12% walE (C} 15% (D) 12%

n, :
Pro——— Comcs into play whenever a ,75/ = viferw # oo @ om dam ol R o
s 8 18 to be removed from Lhe ready Wk wzrn g & wfew wedsiurfin f o ved
K thereby reducing the degree of HMUF |

Uprogramming, r
W Long-term Scheduler (A) -z Shegen
&) CPU Scheduler Aw-'ﬂg‘w
IDJ Short-term Scheduler (C) wté-2d NawEm

i edium-term Scheduler (D) LLESLEA R Gl
' I:lea on incomes of the individuals as well | 74 safR oY 3 ¥ 3, W19 8 g FRar i
MPl't)ﬁtas of business enterprises is ¥ Tl T
l | Indirect taxes (B} Tariffs (A) STRIE ¥ (B) e
 ast (D) Direct taxes () sh.w. A Dy W
1% ML15
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“regulates the functions of ,r( gﬁ\ﬂﬁmtm;}ﬁﬁﬁamt.
sccurities market, detects malpractice and FETET H1 9 wmen @ o v F R guan
protects the interests of investors, ot T
|A) National Securities Depository
Limited (NSDL) (A) e Ffife afeh fafee
(B) Central Burcau of Investigation (CBI) LRCRRCR
(C) Bombay Stock Exchange (BSE) (B) =@ 0 3% wafeiem (d@d.an,)
(D) Security and Exchange Board of (C) = whs wwa=a (dtum i)
India (SEBI) _ipyrAwfe ws v 9w e (3)
'6. After Karyogamy the fertilised egg becomes /76'/ e & ar fe s -G s a7
which structure ? ';%g!} (A) e &eh (B) sEma
(A) Pollen sac (B) Ovary '@; 2
(C) Zygote (D) Embryo Pegiiic {D) ¥
T7. ¥ 3" April 1752 is a Monday, which day of ;-r’ Tf2 3 E 1752 UH gHan &, @
the week will 26" April 1752 he 26 30 1752 G F - Ry om ?
(A) Sunday (B) Saturday _ iy tEm (B) Tf¥am
(C) Monday ID) Wednesday (C) Bman (D) TSR
78. Which type of irrigation is most efficient ,?( Fr-w faed =1 v el wud & o waw
water and nutrient delivery system for vt s iR A e Tl yonefi B 2 7
growing crops ?
{A] Drip irrigation (B} Floed irrigatior A &“ Rt (B) wers féremd
(C) Sprinkler irrigation [D) Fog irrigatic ey Teiwe faard (D) =R fart
79. Find the odd one out in the group »  ters. _ggf/ﬁﬁ'ﬂt AT UYE | whA = R |
{A) IR B) KO (A) TR _iBrKO
(€ BY D) D\ () BY (D) DW
80. How mac?yhﬁ?ea g?a t;mg: mir{utﬁ /.80/ B 8 2 pom. W 8 p.m. a& fhedt e ol
hand and the hour hand in a cloc
c:oairzllddc with cm::hd ull‘écr from Mﬁﬁﬁmiwg&#mmfﬂﬁ?
2 p.m. to 8 p.m. in a day (B) IR
(A) seven (B) four /{'W::: _
(C) five (D) six () D) ®:
81. Who is the current Chairman of Union E S e S F Fdwa sverw oA ¥ 1
Public Service Commission ? (&) s mm,
(A] Smita Nagaraj |B) WA EHA ﬁ
(B} Mana] Soni ) : fa Sreft
|C) Pradeep Kumar Joshi e Mﬂgﬂﬁﬁﬂﬂ
(D) None of the above (D)
82. The primary sector of Economic activities ¢ nfil nfafafet ¥ Rmamd
inciudes mive )
A) Agriculture (B) Fishing (A F (B) mmm
(C) Forestry (D) Al of the above (c) R T
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